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CBT Sample assessment model answers

Elements of costing (ELCO)

Sample assessment 2
Task 1 (8 marks)
[image: image2.png]Costing uses a number of techniques to assist management

(a) Identify whether the following statements are true or false.

Statement

Manufacturing ovetheads are a direct manufacturing
cost

True

‘The variable cost per unit increases as more units
are produced

Issues of inventory using first in,first out (FIFO)
will always be costed at the earliest purchase price.

An adverse sales variance is where actual sales
revenue s less than budgeted sales revenue.

(4 marks)

“The table below lists same of the characteristics of financial accounting and cost accounting,

(b) Indicate the characteristics for each system by ticking the relevant boxes in the table below.

Character

‘The statements ofthis system are usually
only available to the managers of the business.

‘The statements ofthis system are used to
determine the taxliabiliy of the business

‘The statements ofthis system are usually
prepared from the pastiransactions ofthe business.

The statements ofthis system are used to estimate
the cost of producing a product or providing a service.

(4 marks)





Task 2 (8 marks)
[image: image3.png]Taste Ltd s in business as a restaurant

(@) Classity the following costs Taste Ltd incurred by element (material, labour or overhead). (4 marks)

Cost Material Labour Overhead

Food for restaurant meals

Rent of restaurant

Wages paid to waiters and
wallresses

Food hygiene training course for
Kitchen stafl





Task 2 (continued)

[image: image4.png]Croome Ltd manufactures and sells garden fumiture.

(b) Classifythe following costs incurred by their behaviour (fixed, variable or semi-variable). (4 marks)

Cost

Variable e

Waod used 1o make garden
furmiture

Annual rent o factory prermises

Wages paid on the basis of outpul

Electricit, consisting of a standing
charge and a charge for each unit
of slectriciy used





Task 3 (6 marks)
[image: image5.png]Code the following transactions for the project, using the table below. (8 marks)

Each transaction should have a six character code.

acty oo Natwoofoost  Sub cote
el R R i pn

Rovanuss Rev | ukcsas a|[Femoreommoremses oo
Cupesas | a0 [|Conkiemmsentor [

coste cos |t st oo,
Lo 550 || stares orproctsan | cossan
- 550





Task 4 (12 marks)

[image: image6.png]{a) Identify the type of cost behaviour (fixed, variable or semi.variable) described in each statement.

Statement

AL5,000 units, this cost s £12,500, and
a13,750 units, it is £9,375.

Fixed

ble

Semivariable

At4,000 units, this cost s £4.00 per unit, and
at2,500 units, itis £6.40 per unit

18,000 units, this costis £31,500, and
410,000 units, this cost is £37,500.

(8 marks)

() Complete the table helow by inserting all costs for the activity levels of 5,000 and 7,500.

4000unts  5000unts  7500units 9,000 units
Variable cost (8) 17500 26250

Fixed cost €) 7500 7500

Total cost (£) 21,500 25000 33750 36,000

(6 marks)





Task 5 (12 marks)

[image: image7.png]{a) Complete the table below to show the possible overhead absorption rates that Fletcher Ltd could
use. The absorption rates should be calculated to two decimal places. (3 marks)

Labour hour unit
Overheads (&) 360000 360000 360000
Activity 25000 12000 45000

‘Absorption rate () 1440 e 8





[image: image8.png]b) Complete the table below (to two decimal places) to calculate the total unit cost, using the three

overhead absorption rates you have calculated in (a). (9 marks)
Cost Machine hour (8 Labour hour (2) Unit (8)
Material 750 750 750
Labour 450 450 450
Direct cost 12 12 12
Overheads 72 75 8
Total unit cast 192 195 20





Task 6 (12 marks)

[image: image9.png]Complete the table below. Unit costs should be calculated to TWO decimal places.

nte o costs Tolgosts  unk st
2000 15000 a0 20000 12
2500 15000 1250 28250 105
5000 15000 2500 arsm0 15

(12 marks)





Task 7 (14 marks)

[image: image10.png](a) Reorder the following costs into a manufacturing account format for the year ended 31 December.
You should drag each item to the correct position on the list on the right hand side below.

Note that where costs are not given, you will need to determine these in part (b). (@ marks)
[opering iventon f raw matera Frees |
[Purchase of raw materal REI
[Closing imventory of raw material e

[DIRECT WATERIAL USED ]

Directiabour |
[DiREcT cos ]
[wanutactuing oveneags a0 |

[MANUFAGTURING Go5T ]

[opsting merton stworcnproaress #1830

[Closing mventory ot vk nprogress__ #1800

G5 oF GOODS MANUFAGTURED ]

[Cpering imventon ofinished goots  £25670 ]

[losing iventony of irishedgoods 227830 ]

[cosT oF G008 801D ]





Task 7, continued

[image: image11.png](b) Determine and enter the cost totals below, using your answer to part (a) to help you.

Direct material used

Direct cost

Manufacturing cost

76470

131450

176760

Costof goods manufactured

Costofgoods sold

B

175520

173360

(5 marks)




Task 8 (9 marks)

[image: image12.png]fou are told the opening inventory of a single raw material in the stores is 2,250 units at£2.50 per unit
During the month, 1,500 units at £2.75 per unit are received and the following week 1,800 units are issued

(2) Identify the valuation method described in the statements helow hy dragging into the correct column, (6 marks)

[The issue 71,800 units || [The closing inventory is || [The issue of 1,800 units
is costed at £4,500, valued at£4,875. is costed at £4,680

Statements:

ou are told the opening inventary of a single raw material in the stores is 2,250 unis at £2.60 per unit. During
the month, 1,500 units at£2.75 per unit are received and the following week, 1,800 units are issued.

() Identify whether the statements in the table below are true or faise. (3 marks)

Statement True False

FIFO values the closing inventory at £5,250.

LIFO costs the issue of 1,800 units at £4,500,

AVCO values the closing inventory at £5,070





Task 9 (12 marks)

[image: image13.png]Complete the table below by entering the cost of issues and closing inventory values. (12 marks)

o e e L
UFo 8200 9800





Task 10 (8 marks)

[image: image14.png]An employee is paid £14 an hour and is expected to make 30 units an hour.
For any excess production, the employss will be paid a bonus of 50p per unit

(a) Identify whether the following statements are true or false. (6 marks)

Statement True False

During a 30 hour wesk, the employes produces
870 units and eams total pay f 2435,

During a 36 hour week, e employee praduces
1,100 units and eams 2 banus or&10. v
During 2 42 hour week, e employee praduces

1,300 units and earms fotal pay of £608. v

Pendle Lid pays a time-rate of £13.50 per hour or a 34 hour week.
Any employee working in excess of 34 hours perweek s paid an overtime rate of £20.50 per hour.

(b) Calculate the basic wage, overtime and gross wage for the week for the two employees in the table
below. (@ marks)

Note: i no overtime s paid, you should enter 0 as the overtime for that employee.

Hours Basic wage Gross wage
Employee e A
S Hewitt 38 450 82 541

Jial a2 450 164 623





Task 11 (8 marks)

[image: image15.png]Complete the table below for the two methods showing the gross wage for the time-rate with bonus and
the piecework wage.

(8 marks)

Note: f no bonus is paid, you should enter 0 as the honus for that emplayee in the table.

iecewark wage

Hours Uit Basic wage Bonus Gross wage
£

worked  output B %
34 400 425 0 425 440

42 530 525 13 538 583





Task 12 (9 marks)

[image: image16.png](@) Identify whether the following statements are true of false.

Statement

Afavourable costvariance occurs when an actual cost of£6,500
is compared to a budgeted cost of£11 per unitfor a budgeted
outputof 550 units.

An adverse costvariance is where actual costs are lower than
budgeted costs

Faise

Abudgeted costis a forecast costfor a future period.

[True

When budgsted sales revenus is lower than actual sales
revenue, there is a favourable sales variance.

ol

(4 marks)




[image: image17.png]() Inthe table helow, determine whether the variance for each cost type is adverse or favourable. (5 marks)

Budget Actual

Costtyne A i

Direct material 54,250 53,750[Favourable.

— e i D
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Task 13 (8 marks)

[image: image18.png]Inthe table below, insert the budget amount for each item, calculate each variance and then determine
whether itis adverse or favourable by selecting the correct option. (8 marks)

Budget Actual  Variance
% % %

Sales 3ts000| 325000 7000

Material 89520 86,760) 2760 [Favauratie d

Labour 36915 37,850) 735 [pdverse

[Favourabie

Overheads 55420 54,500) 730 [Favouratie

i





Task 14 (6 marks)

[image: image19.png]Calculate and insert n the table below the production cost variances and the variances as a percentage.
of budget (rounded to two decimal places).

You are not required to show whether the variances are adverse or favourable. Do not insert a minus sign
o brackets.

Direct material 48,500 2900 598
Direct labour 45,600 1250 274
Production overheads 37,000 1390 376

6 marks)




Task 15 (8 marks)

[image: image20.png](a) Examine the variances below and determine whether they are significant or not significant. (4 marks)

Budget  Variance
% %

Direct material
Department A
Direct material

53,580 3120)

Bignificant |2

Department B 25.310) 445/ [Not significant |2
Direct labour
DeparimentA 35,080) 2190| [Gigniicant I3

Directiabour
Department B 27,860 510 Nntsmmﬂcamd





[image: image21.png]() Identify whether the following statements are true or false.

Statement

“The variance for the Direct Material cost of
Departrment A should be reported to the Production
Manager for Depariment A

“The variance for the Direct Material cost of
Departrent B should be reported to the Purchasing
Manager

Faise =]

“The variance for the Direct Labour cost of
Departrent B should be reported to the Production
Manager for Depariment B

Faise =]

“The variance for the Direct Labour cost of
Departrent A should be reported to the Human
Resources Manager.

[True =]

(4 marks)
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